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1] Tulls
C romains unchsnged.
D rises then Talls
IF both demmund and supply incrense then
A both price und quantity traded will pise.
L Fﬁ“““’"“ﬂ“ﬂi?wﬁmﬁu_
dw EnCcertiin qﬂﬂm‘rﬂ NErease.
E ::..,.,ﬁ“::m d-._l':dm complen mhlhﬂhh-&iﬂhulllﬂltll'ﬁ!mdl of such

mavemicnis
The following information aboul a production poksibility curve are e except that

points. insde the PPC are inefTiciont _
ull paints along the PPC are productively etficient.

all point slong the PPC are allocatively efficient. .
the PPC 15 constructed on the assumplion Hist there 1 fied supply of resources

ERAES

I maore labotir is sdded o a fixed amount of capital, the rate at which eutput increases begin v
decline  Thin [llustretes diminiahing marginal

A con
W atility,

C profit

[ ] productivity

Thet kinked demand curve faced by an oligepolist is based on the assumtion that nvals will

A follow i price increase but not o price decredse.
n follow o price decrense bat nof a price increase
C follow both a price decrease and a price increase.
D ignare both & price increase and a price decréase

If a firm in a perfectly competitive industry raines ils price above the market price

its sales will drop 10 zero

itn sales will fall marginally.
all other firms in the industry will follow suir,

its sales will say the same,

-Ha i I
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17 The table shows information in the population of a country.
Clana rm
Under 15 irﬁ""'
Employ e 1%
Pensioners
 Liner F
 Mhysically unable w work
Lutal population “Jsu—_"’“

Calculate the unemnployment mate.

Y
%
e i S

%

TERn=EF

| o L]rmnu i Ccmonic raceiiae axles daling 16ading s Sombe WO losing thor jobs. This 1y p.
| ol unomployment (5 referned o 1

| A evielenl
i frictaonal
C RETLEC furmd
| 1] ot hnological

| (L] Whaeh of the followlng would be classified as an expansion monetary policy

an increase in special deposits
AR incrTase i maoney wpply
an increase 15 imeres e

an inerease in the exchange mie

=r=s

0 11 2 000 1x the hase vear for real GDP caloutation then we know for certaun that nominal G0

ks equul o real GDP in 2000,

g4 less than real GDP in 2000,

i greater than real GDF in 2000

in | 999 was greater than real GDP in 2000,
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The shore-run perod in Economics s described as 8 ime period in which

4
A at least one factor of production is available
1] all factors of production are fixed.
i all fsctors of production are vanable.
n ol least one factor of production is fixed.
5 Which of the following is sot an example of an externality”

A throwing empty coke cans milo the street

1] the coat 16 the owner of an attractive garden

C cleaning a rubbish-fitted site 1o build a hospiml

1] deroplanes tking-ofl from an airport near a residental area

2 I graph below shows the supply curve for tea in an economy.

Price ? LF
e
0 Quantity of tea

What could possibly cause the supply curve to shift from 5, to 57

a pasitive change in consumer taste for 1ea

A
B a decrease in the cost of producing lea
C an increase in the cosi of producing tea
D an increase in the price of coflec
sOTH1 12019

[Turn over
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Ther disgrarmy Baghorss shovey e demars! ersd sopply curves. 5o o pply e fiore lax and §) o I'""”'I:"

LB
pllz=r twa
'
rroe
Il
+
frp
:l
! ]
- =
Ik i % { ity
What s the effect ol e mmpoastian of te taa
A b and CoimidiEnes -.-.|."|'r!||-| ol am ared Bed oy
n I il pevsdicers ard comadimer surplus ol arca abc
i loas in presducer and comaumer surplis of area ade
1] liws im cosmairmer surplas (P Pba ) and producer” s surplus of bed
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Capital Stock

Wh does curve | represen”

mm:rﬂltlmu[upui

the transmission mechanism of capitsl

the pecelerator principle

i hmﬂmnhduluwhfnmmmmmm

47,49, $5; 56, 52, 82, 70, 66, 61; 53
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Fd | The following siements o the surculns Mow of icome & ree excapl

there are two sets of murkers N Wn econnmy being goods marke and (s minrket

A
B fims wre buyen in the fuctor murket snid seliess in the goods marke
l':]I frrms are busers nihe gendy mnrket srd sellers i the fecior mariet

Frreess ary by II-I'"'I:II M.m '-"'-'-"f"lul |:||1;|||d_!_

11 A vnhue sdded e (VAT i Penmerally viewed ms

A progressive, hecsuse the s :nprrﬂ!l‘l'url! ol the rich |8 greater than that of the

pong ome

n regressive, because lnw meome houscholds spend & greator propartion of their in "
goods that sitmuct VAT

L propaniconal, hecause the VAT rate is constsnt scross goods that sitrct VAT

[} wRreisive, beoause the VAT burden increases s houscholds' incomes incresse

ba I'he exchange rate beuw ren he Simbabwe dolliv amnd the Motvwans Pula s £51 =13

o car costs 2516 000 then i1s coid in ula i

A L5 i
] P15 200
L P13333
n " 233
24 lanfls beiscfit domosiie producer by

A IGTEEINE povermmenl fevenie

It reduscing the pnces ol imponed goods

L8 reducing salet of domestically produced poods
1] increasing vales of domestically produced goods

25 All of the Tollowing are hmuations of the Marginal Revense Productivity (MRIY) theory excepl

A labour {§ perfect]ly mobsike
B it assumes (hat more productive workers are paid higher wages,
C all factors of production are held constant in supply during production,
B itisnot possible to calculote the marginal revenue product of workers in the sérvice sector.
AN 0t
|Turn over
e
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3 Ancconomy has the following curremt account statistics

Sm
Expon of goaods V40
Export of services 150
Impor of goods 400
Import of services 1M

Caleulaie the balance of trade”

A -S50
] £
[ oy L
(i +550
The

” diagrim below shows u product market with OF as the eguilitsrium pnot

I'rice

Prive ceiling

| X}

i : _..

!
LUhiandity

l

Uovernmen! imgises i maximum price shoive the equalibrium PP 1o price denated by N. The effect
on consumer demand 15

a fall in quantsty demanded from gy to g,
an incresse i quantily demanded from g, 1o g
an inceease in demand from g, to g

no effect on quantity demanded

=Nall- IS
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B T Sagrems bivw dere aggrapse el 3l gt gy curvaw i finr coumses.

, s & AS Frice 4 A3
I il el
D AD
-
-
ol gt
A n
AL
Prae L] AS Prae 4
Tl bl
/ s
\m
-
g ,.-,m_’ a l'|'|.l'l:|'l'|ll
i 1

la whih comapitry will sn mmrrsse = pos ermment egpenditure leave the level ol astional cusgne
s B

37 U i indiemanon i the goven table wo smswey the question helos
[imome | lmome ma |

; 3t
Ig )
844 54

'_LB‘J;:! T .
The desiripeson of the iy syssem applod 1

|
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